

Submit to

Faizan Khalid Sheikh

Submit by

Hassan Nawaz

Roll No

29010

subject

Applied Tec Mathematics

semester

2<sup>nd</sup> semester (Tec eng)

## Exercise 9.2

Q:1

$$\frac{dy}{dx} = \frac{x^2}{y(1+x^3)}$$

Solve:

$$y dy = \frac{x^2 dx}{1+x^3}$$

$$\int y dy = \int \frac{x^2}{1+x^3} dx$$

$$\frac{y^2}{2} = \frac{1}{3} \ln(1+x^3) + C$$

$$\frac{3y^2}{2} = \ln(1+x^3) + 3C$$

$$\frac{3y^2}{2} = \ln(1+x^3) + 3C$$

$$3y^2 = 2 \ln(1+x^3) + 6C$$

$$3y^2 = 2 \ln(1+x^3) + C$$

Q: 2

$$\frac{dy}{dx} + y^2 \sin x = 0$$

$$\frac{dy}{dx} = -y^2 \sin x$$

$$\int \frac{dy}{y^2} = - \int \sin x dx$$

$$y^{-1} = -(-\cos x) + C$$

$$\frac{-1}{y} = \cos x + C$$

Q: 3

$$\frac{dy}{dx} = 1 + x + y^2 + xy^2$$

$$\frac{dy}{dx} = (1+x) + y^2(1+x)$$

$$\frac{dy}{dx} = (1+x)(1+y^2)$$

$$\int \frac{dy}{1+y^2} = \int (1+x) dx$$

$$\tan^{-1} y = x + \frac{x^2}{2} + C$$

$$2 \tan^{-1} y = 2x + x^2 + C$$

Q:4

$$(xy + 2x + y + 2) dx + (x^2 + 2x) dy = 0$$

$$[x(y+2) + (y+2)] dx + x(x+2) dy = 0$$

$$[(y+2)(x+1)] dx + x(x+2) dy = 0$$

$$\therefore \text{by } x(x+2)(y+2)$$

$$\frac{x+1}{x(x+2x)} dx + \int \frac{dy}{y+2}$$

$$1 \int \frac{2x+2}{x^2+2x} dx + \int \frac{dy}{y+2} = 0$$

$$dx(y+2) = \frac{1}{2} \ln(x^2+2x) + Cx$$

$$y+2 = \frac{e}{\sqrt{x^2+2x}}$$

Q:5

$$\frac{dy}{dx} = 2x^2 \cdot y - x^2 y + xy - 2x - 2$$

$$= 2x^2 - 2x - 2 + y - x^2 y + xy$$

$$= 2(x^2 - x - 1) - y(-1 + x^2 - x)$$

$$\frac{dy}{dx} = (x^2 - x - 1) / (2 - y)$$

$$\int \frac{dy}{2-y} = \int (x^2 - x - 1) dx$$

$$= \int (x^2 - x - 1) dx$$

$$= \frac{1}{2} \ln|2-y| = \frac{x^3}{3} - \frac{x^2}{2} - x + c$$

$$= \ln|x| \ln|2-y| = \frac{2x^3 - 3x^2 - 6x + 6c}{6}$$

$$= 6 \ln|x| \ln|2-y| = 2x^3 - 3x^2 - 6x + 6c$$

$$\ln|x| \ln|2-y| = (2x^3 - 3x^2 - 6x + 6c) \ln|x|$$

$$= 6(2x^3 - 3x^2 - 6x + 6c)$$

$$\ln|x| \ln|2-y| = \ln|x| c$$

$$= 6(2x^3 - 3x^2 - 6x)$$

$$\ln|2-y| = c$$

$$\ln|2-y| = 2x^3 - 3x^2 - 6x$$

Q:6

$$\operatorname{cosec} x dx + \sec x dy = 0$$

$$\div \text{ by } \operatorname{cosec} x \sec x$$

$$\frac{1}{\sec x} dx + \frac{1}{\operatorname{cosec} x} dy = 0$$

$$\sec x \operatorname{cosec} x$$

$$\Rightarrow \int \sec x dx + \int \operatorname{cosec} x dy = \int 0 dx$$

$$\Rightarrow \sin x - \cos y = C$$

Q:7

$$y(1+x)dx + x(1+y)dy = 0$$

$$\div \text{ by } xy$$

$$\frac{(1+x)}{x} dx + \frac{(1+y)}{y} dy = 0$$

$$\int \left(\frac{1}{x} + 1\right) dx + \int \left(\frac{1}{y} + 1\right) dy = \int 0 dx$$

$$\Rightarrow \ln x + x + y + \ln y = C$$

$$x + y + \ln(xy) = C$$

Q:8

$$y\sqrt{1+x^2}dx + x\sqrt{1+y^2}dy = 0$$

$$\div \text{ by } xy$$

$$\int \frac{\sqrt{1+x^2}}{x} dx + \int \frac{\sqrt{1+y^2}}{y} dy = \int 0 dx$$

$$\text{PUT } \sqrt{1+x^2} = t \quad \text{PUT } \sqrt{1+y^2} = z$$

$$1+x^2 = t^2 \quad 1+y^2 = z^2$$

$$2x dx = 2t dt \quad 2y dy = 2z dz$$

$$x dx = t dt \quad y dy = z dz$$

Therefore

$$= \int \frac{\sqrt{1+x^2}}{x^2} x dx + \int \frac{\sqrt{1+y^2}}{y^2} y dy - \int \frac{1}{x^2} dx$$

$$= \int \frac{1}{t^2-1} + \sqrt{2} \cdot 2 dx - c$$

$$\int \left( \frac{t+1}{t^2-1} \right) dt + \int \left( \frac{2^2-1}{2^2-1} \right) dz = c$$

$$\int \left( \frac{1+1}{t^2-1} \right) dt + \int \left( \frac{1+1}{2^2-1} \right) dz = c$$

$$\frac{\sqrt{1+x^2+1}}{2} \left( \frac{\sqrt{1+x^2-1}}{\sqrt{1+x^2+1}} \right) + \frac{\sqrt{1+y^2+1}}{2}$$

$$\left( \frac{\sqrt{1+y^2-1}}{\sqrt{1+y^2+1}} \right)$$

~~Ex 9.3.~~

Q:1 Homogeneous equation

$$(x-y) dx - (x+y) dy = 0$$

$$(x+y) dy = -(x-y) dx$$

$$\frac{dy}{dx} = \frac{y-x}{x+y} \quad \text{--- (1)}$$

$$\frac{dy}{dx} = \frac{y-x}{x+y}$$

$$\text{Put } y = vx \quad \text{--- (2)}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- (3)}$$

$$v + x \frac{dv}{dx} = \frac{vx-x}{x+vx}$$

$$\frac{dv}{dx} = \frac{1+vx}{1+v}$$

$$\begin{aligned} x \frac{dv}{dx} &= x(v-1) \\ &= x(1+v) - v \\ &= x - 1 - v - vx \\ &= \frac{x - 1 - v - vx}{1+v} \end{aligned}$$

$$x \frac{dy}{dx} = - \frac{(v^2 + 1)}{1+v}$$

$$\int \frac{v+1}{v^2+1} dv + \int \frac{dx}{x}$$

$$\frac{1}{2} \int \frac{2v dv}{v^2+1} + \int \frac{dx}{x}$$

$$\frac{1}{2} \ln(v^2+1) + \tan^{-1} v - \ln x + c$$

$$\ln(x(v^2+1))^{1/2} + \tan^{-1} v + \ln x = c$$

$$\ln x \sqrt{\frac{y^2}{x^2} + 1} + \tan^{-1} \left( \frac{y}{x} \right) + \ln x = c$$

$$\ln x \sqrt{y^2 + x^2} - \ln x \sqrt{x^2} + \tan^{-1} \left( \frac{y}{x} \right) = c$$

$$\ln x \sqrt{y^2 + x^2} + \tan^{-1} \left( \frac{y}{x} \right) = c \frac{x}{x}$$

Q:2

$$(y^2 + 2xy) dx + x^2 dy = 0$$

$$x^2 dy = -(y^2 + 2xy) dx$$

$$\frac{dy}{dx} = - \frac{(y^2 + 2xy)}{x^2}$$

$$v + y = vx$$



$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$

using @ of @ in @

$$v + x \frac{dv}{dx} = - \left( -v^2, x^2 + 2xvx \right)$$

$$x \frac{dv}{dx} = - \left( \frac{x^2}{x^2} (v^2 + 2x) \right) - v$$

$$x \frac{dv}{dx} = - \left( \frac{x^2}{x^2} (v^2 + 2x) \right) - v$$

$$x \frac{dv}{dx} = - (v^2 + 3v)$$

$$\int \frac{dv}{v^2 + 3v} = - \int \frac{dx}{x}$$

$$\int \frac{1}{v(v+3)} dv = - \int \frac{dx}{x}$$

$$\frac{1}{3} \int \frac{1}{v} - \frac{1}{3} \int \frac{1}{v+3} = - \int \frac{dx}{x}$$

$$\frac{1}{3} \ln v - \frac{1}{3} \ln (v+3) = - \ln x + \ln c$$

$$\ln \left[ \frac{v^{\frac{1}{3}}}{(v+3)^{\frac{1}{3}}} \right] = \ln \frac{c}{x}$$

$$v^{\frac{1}{3}} = \frac{c}{x}$$

$$(v+3)^{\frac{1}{3}} = \frac{c}{x}$$

$$x \cdot v^{\frac{1}{3}} = c (v+3)^{\frac{1}{3}}$$

$$x \left( \frac{y}{x} \right)^{\frac{1}{3}} = \left( \frac{y+3x}{x} \right)^{\frac{1}{3}}$$

$$x y^{\frac{1}{3}} = \left( (y+3x) \right)^{\frac{1}{3}}$$

$$x^3 y = (y+3x)$$

Q: 3

$$(x^2 - 3y^2) dx + 2xy dy = 0$$

$$2xy dy = -(x^2 - 3y^2) dx$$

$$\frac{dy}{dx} = \frac{3y^2 - x^2}{2xy} \quad \text{--- (1)}$$

$$\text{Put } y = vx \quad \text{--- (2)}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- (3)}$$

using (2) (3) in (1)

$$v + x \frac{dv}{dx} = \frac{3v^2 x^2 - x^2}{2xvx}$$

$$x \frac{dv}{dx} = \left( \frac{3v^2 - 1}{2v} \right) x - v$$

$$x \frac{dv}{dx} = \frac{v^2 - 1}{2v}$$

$$\left( \frac{2v}{v^2 - 1} \right) dv = \left( \frac{2 dx}{x} \right)$$

$$\ln(v^2 - 1) = \ln x + \ln c$$

$$\ln \left( \frac{y^2}{x^2} - 1 \right) = \ln c x$$

$$y^2 - x^2 = cx$$

$$y^2 - x^2 = cx$$

Q:4

$$(x^2 + 3y^2) dx - 2xy dy = 0$$

$$(x^2 + 3y^2) dx - 2xy dy$$

$$\frac{x^2 + 3y^2}{2xy} = \frac{dy}{dx} \quad \text{--- (1)}$$

$$\text{Put } y = vx \quad \text{--- (2)}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- (3)}$$

using (2) in (1)

$$v + x \frac{dv}{dx} = \frac{x^2 + 3v^2x^2}{2xvx}$$

$$x \frac{dv}{dx} = \frac{x^2(1+3v^2)}{x^2 2v} - v$$

$$x \frac{dv}{dx} = \frac{1+3v^2-2v^3}{2v}$$

$$x \frac{dv}{dx} = \frac{1+v^2}{2v}$$

$$\int \frac{2v}{1+v^2} dv = \int \frac{dx}{x}$$

$$\ln(1+v^2) = \ln x + \ln c$$

$$P_0(100^2) = 20000$$

$$\left(1 + \frac{y^2}{x^2}\right) = CK$$

$$x^2 + y^2 = (CK)x^2$$

Q: 5

$$(x^2 + xy + y^2)dx - x^2 dy = 0$$

$$(x^2 + xy + y^2)dx = x^2 dy$$

$$\frac{dy}{dx} = \frac{x^2 + xy + y^2}{x^2} \quad \text{--- (i)}$$

Put  $y = vx$  (ii)

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{(iii)}$$

using

$$v + x \frac{dv}{dx} = \frac{x^2 + x(vx) + v^2 x^2}{x^2}$$

$$x \frac{dv}{dx} = \frac{(1 + v + v^2)x^2 - v}{x^2}$$

$$\int \frac{du}{1+u} = \int \frac{dx}{x}$$

$$\ln|1+u| = \ln|x| + C$$

$$\ln\left|\frac{y}{x}\right| = \ln|x| + C$$

Q: 6

$$(x^2 + 3xy + y^2)dx - x^2 dy = 0$$

$$(x^2 + 3xy + y^2)dx = x^2 dy =$$

$$\frac{dy}{dx} = \frac{x^2 + 3xy + y^2}{x^2} \quad \text{--- (i)}$$

$$\text{Put } y = vx \quad \text{--- (ii)}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- (iii)}$$

Using (i), (ii), (iii)

$$v + x \frac{dv}{dx} = \frac{x^2 + 3x(vx) + v^2 x^2}{x^2}$$

$$x \frac{dv}{dx} = x^2 (1 + 3v + v^2) - v$$

$$x \frac{dv}{dx} = 1 + 2v + v^2$$

$$\int \frac{dv}{(1+v)^2} = \int \frac{dx}{x}$$

$$\frac{1}{v+1} = \ln x + C$$

$$-\frac{1}{v+1} + 1 = \ln x + C$$

$$-\frac{1}{y+x} = \ln x + C$$

$$-\frac{x}{x+y} = \ln x + C$$

Q: 7

$$\frac{dy}{dx} = \frac{4y - 3x}{2x - y} \quad \text{--- (i)}$$

Put  $y = vx$  --- (ii)

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- (iii)}$$

using partial fraction

$$v + x \frac{dv}{dx} = \frac{4vx - 3x}{2x - vx}$$

$$x \frac{dv}{dx} = \frac{x(4v-3) - v}{x(2-v)}$$

$$x \frac{dv}{dx} = \frac{4v-3-2v+v^2}{2-v}$$

$$\int \frac{2-v}{v^2+2v-3} dv = \int \frac{dx}{x}$$

$$\frac{2-v}{(v+3)(v-1)} = \frac{A}{v+3} + \frac{B}{v-1}$$

$$2-v = A(v-1) + B(v+3)$$

Put  $v+3=0$

$$v = -3$$

$$-1 = A(-3-1) + B(0)$$

$$-1 = A(-4)$$

$$A = \frac{-1}{-4}$$

$$A = \frac{1}{4}$$

Part  $v-1 = 4$

$$v = 1$$

$$2-1 = A(1-1) + B(1+3)$$

$$1 = A(0) + B(4)$$

$$\boxed{B = \frac{1}{4}}$$

$$\frac{2-4}{(2+3)(v-1)} = \frac{1}{4(v+3)} + \frac{1}{4(v-1)}$$

$$\frac{1}{4} \int \frac{dv}{v+3} + \frac{1}{4} \int \frac{dv}{v-1} = \int \frac{dx}{x}$$

$$\frac{1}{4} \ln(v+3) + \frac{1}{4} \ln(v-1) = \ln|x| + C$$

$$\ln(v+3) + \ln(v-1) = 4 \ln|x|$$

$$\ln \frac{v-1}{(v+3)^4} = \ln|x|^4$$

Answer

$$\left( \frac{v-1}{(v+3)^4} \right) = |x|^4$$

$$\frac{v-1}{(v+3)^4} = C$$

$$\frac{y-x}{(y+3x)^4} = C$$



Q.8:-

$$x \sin\left(\frac{y}{x}\right) dy = \left(y \sin \frac{y}{x} - x\right) dx$$

$$\frac{dy}{dx} = \frac{y \sin \frac{y}{x} - x}{x \sin \frac{y}{x}} \quad \text{--- i}$$

Put  $y = vx$  --- ii

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- iii}$$

$$v + x \frac{dv}{dx} = \frac{vx \sin \frac{vx}{x} - x}{x \sin\left(\frac{vx}{x}\right)}$$

$$x \frac{dv}{dx} = \frac{x(v \sin v - 1)}{x \sin v} - v$$

$$x \frac{dv}{dx} = \frac{v \sin v - 1 - v \sin v}{\sin v}$$

$$\int \sin v \, dv = \int -\frac{dx}{x}$$

$$-\cos v = \ln |x| + C$$

$$\cos v = \ln |x| - C$$

$$\cos \frac{y}{x} = \ln |x| - C$$

# Non Homogeneous Equation

Q.1:

$$\frac{dy}{dx} = \frac{x+3y-5}{x-y-1}$$

Put  $x = x+h$

$$\frac{dy}{dx} = \frac{x+h+3(y+k)-5}{x+h-(y+k)-1}$$

$$\frac{dy}{dx} = y = v+k$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$

$$v + x \frac{dv}{dx} = \frac{x+3v}{x-v}$$

$$x \frac{dv}{dx} = \frac{x(1+3v)}{x(1-v)}$$

$$x \frac{dv}{dx} = \frac{(1-v)^2}{1-v}$$

$$\int \frac{1-v}{(1-v)^2} dx = \int \frac{dx}{x}$$

$$\int \frac{1 dv}{(1+v)^2} = - \int \frac{v dv}{(1+v)^2} = \int \frac{dx}{x}$$

$$\int (1+u)^2 du = \int \frac{1+u-1}{(1+u)^2} du = \int \frac{du}{1+u}$$

$$\Rightarrow \int (1+u)^2 du = \int \frac{1}{1+u} du + \int \frac{1}{(1+u)^2} du = \int \frac{du}{1+u}$$

$$\Rightarrow \frac{-1}{1+u} = \ln(1+u) - \frac{1}{1+u} = \ln x + \ln c$$

$$\frac{-2}{1+u} = \ln(1+u) + \ln x + \ln c$$

$$\frac{-2}{1+u} = \ln(x(1+u))$$

$$\frac{-2}{x+y} = \ln(x(1+\frac{y}{x}))$$

$$\frac{-2x}{x+y} = \ln(x+y)$$

$$\frac{-2(x-2)}{x-2+y-1} = \ln(x+y-1)$$

$$\frac{-2x+y}{x+y-1} = \ln(x+y-1)$$

Q:2:-

$$\frac{dy}{dx} = \frac{-(4x+3y+15)}{2x+y+7}$$

Part i  $x = x+h$

$$y = y+h$$

$$\frac{dy}{dx} = \frac{-(4x+4h+3y+3h+15)}{2x+2h+y+h+7}$$

$$\frac{dy}{dx} = \frac{4x-3y}{2x+y}$$

Part ii  $y = v x$       ii

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{iii}$$

$$v + x \frac{dv}{dx} = \frac{-4x-3vx}{2x+vx}$$

$$x \frac{dv}{dx} = \frac{-x(4+3v)}{x(2+v)}$$

$$= \frac{-4-3v-2v-v^2}{2+v}$$

$$x \frac{dv}{dx} = \frac{-(v^2+5v+4)}{2+v}$$

$$\int \frac{v+2}{v^2+5v+4} = \int -\frac{dv}{v}$$

$$\frac{1}{3} \int \frac{dv}{v+1} + \frac{2}{3} \int \frac{dv}{v+4} = - \int \frac{dv}{v}$$

$$\frac{1}{3} \ln(v+1) + \frac{2}{3} \ln(v+4) = \ln c + \ln v$$

$$\frac{1}{3} \ln(v+1)(v+4)^2 = \ln \frac{c}{v}$$

$$\ln \left[ \left( \frac{v}{c} + 1 \right) \frac{v+4}{c} \right]^{\frac{1}{3}} = \ln \frac{c}{v}$$

$$\frac{(v+c)(v+4)}{c^2} = \frac{c^3}{v^3}$$

$$(v+c)(v+4) \frac{v^3}{c^2} = c^3$$

$$(v+1+x+3)(v+1+4x+12) = c^3$$

$$(x+y+4)(4-x+y+13) = c^3$$

Q: 3: -

$$(3y - 7x - 3)dx + (7y - 3x - 7x^2y)dy = 0$$

$$(7y - 3x - 7)dy = -(3y - 7x - 3)dx$$

$$\frac{dy}{dx} = \frac{-3y + 7x + 3}{7y - 3x - 7}$$

Put  $x = k+h$

$$y = y+k$$

$$\frac{dy}{dx} = \frac{-3(y+k) + 7(k+h) + 3}{7(y+k) - 3(k+h) - 7}$$

$$\frac{dy}{dx} = \frac{-3y + 7k}{7y - 3k}$$

Put  $y = vk$  ——— i

$$\frac{dy}{dx} = v + k \frac{dv}{dx} \text{ ——— ii}$$

$$k + k \frac{dv}{dx} = \frac{-3vk + 7k}{7vk - 3k}$$

$$k \frac{dv}{dx} = \frac{k(-3v + 7)}{k(7v - 3)} \text{ ——— iii}$$

$$k \frac{dv}{dx} = \frac{-3v + 7 - 7v^2 + 3v}{7v - 3}$$

$$\int \frac{7v-3}{7(1-v)} dv = \int \frac{dv}{v}$$

$$\frac{2}{7} \int \frac{dv}{1-v} - \frac{5}{7} \int \frac{dv}{1+v} = \int \frac{dv}{v}$$

$$= \frac{2}{7} \ln(1-v) - \frac{5}{7} \ln(1+v) = \ln v + \ln c$$

$$\frac{1}{7} \ln \left( \frac{1-\frac{y}{x}}{1+\frac{y}{x}} \right)^2 = \ln v$$

$$\ln \left( \frac{x-y}{x} \right)^2 \left( \frac{x+y}{x} \right)^{-5} = \ln c v^7$$

$$\frac{x^2}{(x-y)^5} \cdot \frac{x^5}{(x+y)^5} = c^7 v^7$$

$$\frac{x^7}{x^7 c^7} = (x-y)^2 (x+y)^5$$

$$c^7 = (x-y)^2 (x+y)^5$$

$$c^7 = (x-(y-1))^2 (x+y-1)^5$$

$$c^7 = x-(y-1)$$

$$c^7 = (x-y+1)^2 (x+y-1)^5$$

Q: 9: -

$$\frac{x-2y+5}{2x+y-1}$$

Put  $x = x+h$   
 $y = y+k$

$$\frac{dy}{dx} = \frac{x+h-2y-2k+5}{2x+2h+y+k-1}$$

$$\frac{dy}{dx} = \frac{x-2y}{2x+y} \quad \text{--- i}$$

Put  $y = vx$  --- ii

$$\frac{dy}{dx} = vx + x \frac{dv}{dx} \quad \text{--- iii}$$

$$vx + x \frac{dv}{dx} = \frac{x-2vx}{2x+vx}$$

$$x \frac{dv}{dx} = \frac{x(x-2v)}{x(2+V)} - v$$

$$x \frac{dv}{dx} = \frac{1-2V-2V-V^2}{2+V}$$

$$\int \frac{2+V}{1-4V-V^2} dV = - \int \frac{dx}{x}$$

$$\frac{1}{2} \ln(V^2+4V-1) = -\ln x + \ln C$$



$$\ln \sqrt{V^2 + 4V - 1} = \ln \frac{C}{x}$$

Solving

$$\sqrt{\frac{y^2}{x^2} + \frac{4y}{x} - 1} = \frac{C}{x}$$

$$\frac{y^2 + 4xy - x^2}{x^2} = \frac{C^2}{x^2}$$

$$y^2 + 4xy - x^2 = C^2$$

$$\left(y - \frac{4x}{5}\right)^2 + 4\left(x + \frac{3}{5}\right)\left(y - \frac{4x}{5}\right) - \left(x - \frac{3}{5}\right)^2 = C^2$$

Q: 5:-

$$\frac{dy}{dx} = \frac{3x - 4y - 2}{3x - 4y - 3}$$

Put  $3x - 4y = Z$   $\rightarrow$

$$3 - 4 \frac{dy}{dx} = \frac{dZ}{dx}$$

$$3 - \frac{dZ}{dx} = \frac{4dy}{dx}$$

$$\frac{1}{4} \left(3 - \frac{dZ}{dx}\right) = \frac{dy}{dx}$$

using eq. (1) & (2)

$$\frac{1}{4} \left( 3 - \frac{dz}{du} \right) = \frac{z-2}{z-3}$$

$$3 - \frac{dz}{du} = \frac{4z-8}{z-3}$$

$$3 - (4z-8) = \frac{dz}{du}$$

$$3z-9-4z+8 = \frac{dz}{du}$$

$$-du = \frac{z-3}{1+z} dz$$

$$\frac{z-3}{1+z} dz = -du$$

$$\int \frac{(z+1)-4}{1+z} dz = -\int du$$

$$\int \left( 1 - \frac{4}{1+z} \right) dz = -\int du$$

$$z - 4 \ln(1+z) = -u + C$$

$$(3x-4y) - 4 \ln(1+3x-4y) = -x + C$$

$$4x-4y - 4 \ln(1+3x-4y) = C$$

$$x - y - \ln(1 + 3x - 4y) = 0$$

$$x - y - \ln(1 + 3x - 4y) = c'$$

Q161-

$$\frac{dy}{dx} = \frac{y - x + 1}{y - x + 5} \quad \text{--- i}$$

Put  $y - x = z$  --- ii

$$\frac{dy}{dx} - 1 = \frac{dz}{dx}$$

$$\frac{dy}{dx} = 1 + \frac{dz}{dx} \quad \text{--- iii}$$

$$1 + \frac{dz}{dx} = \frac{z + 1}{z + 5}$$

$$\frac{dz}{dx} = \frac{z + 1}{z + 5} - 1$$

$$= \frac{z + 1 - z - 5}{z + 5}$$

$$\frac{dz}{dx} = \frac{-4}{z + 5}$$

$$\int (2x+5) dx = -4 \int dx$$

$$\frac{2x^2 + 5x}{2} = -4x + c$$

$$\frac{2x^2 + 10x}{2} = -4x + c$$

$$2x^2 + 10x = -8x + 2c$$

$$(y-k)^2 + 10(y-k) = -8k + c$$

$$(y-k)^2 + 10(y-k) + 8k = c'$$

$$(y-k)^2 + 10y = 10k + 8k = c'$$

$$(y-k)^2 + 10y - 2k = c'$$

# Exercise 9.4

## Exact Equation

Q: 71-

$$(3x^2 + 4xy)dx + (2x^2 + 2y)dy = 0$$

$$M = 3x^2 + 4xy, \quad N = 2x^2 + 2y$$

$$\frac{\partial M}{\partial y} = 0 + 4x \quad \frac{\partial N}{\partial x} = 4x + 0$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

now  $\int M dx + \int (\text{term of } N \text{ from } dx) dy = C$

$$\int (3x^2 + 4xy) dx + \int 2y dy = C$$

$$\frac{3x^3}{3} + \frac{4x^2y}{2} + \frac{2y^2}{2} = C$$

$$x^3 + 2x^2y + y^2 = C$$

Q: 2:-

$$(2xy + y^2 \tan y) dx + (x^2 - x \tan y + \sec^2 y) dy = 0$$

$$M = 2xy + y^2 \tan y$$

$$N = x^2 - x \tan y + \sec^2 y$$

$$\frac{\partial M}{\partial y} = 2x + 1 - \sec^2 y$$

$\frac{\partial N}{\partial x}$

$$= 2x - \tan y + 0$$

$$= 2x - \tan^2 y$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$$\int M dx + \int (\text{terms of } N \text{ from } x) dy = c$$

$$\int (2xy + y^2 \tan y) dx + \int \sec^2 y dy = c$$

$$\frac{2x^2 y}{2} + xy - x \tan y + \tan y = c$$

$$x^2 y + xy - x \tan y + \tan y = c$$

Q:3

$$\left( \frac{x+y}{y-1} \right) dx - \frac{1}{2} \frac{(x+1)^2}{(y-1)^2} dy = 0$$

$$M = \frac{x+y}{y-1} \quad N = \frac{1}{2} \frac{(x+1)^2}{(y-1)^2}$$

$$\frac{\partial M}{\partial y} = \frac{(y-1)(1) - (x+y)(1)}{(y-1)^2}$$

$$N = \frac{1}{2} \frac{(x^2 + 2x + 1)}{(y-1)^2}$$

$$= \frac{y-1-x-y}{(y-1)^2} = \frac{x-x-1}{(y-1)^2}$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x} \quad \therefore \text{given} \dots$$

$\int M dx + \int (\text{terms of } N \text{ free from } dx) dy = c$

$$\int \left( \frac{x+y}{y-1} \right) dx + \int \left( -\frac{1}{2} \cdot \frac{dy}{(y-1)^2} \right) = c$$

$$\left( \frac{1}{y-1} \right) \left( \int (x+y) dx + \frac{1}{2} \int (y-1) dy \right) = c$$

$$\left( \frac{1}{y-1} \right) \left( \frac{x^2}{2} + xy \right) + \left( -\frac{1}{2} \left( \frac{-1}{y-1} \right) \right) = c$$

$$\frac{x^2 + 2xy}{2(y-1)} + \frac{1}{2(y-1)} = c$$

$$x^2 + 2xy + 1 = c(y-1) \dots$$

Q:4

$$\frac{dy}{dx} = -\frac{(ax+by)}{hx+by}$$

$$(hx+by)dy = -(ax+by)dx$$

$$(ax+by)dx + (hx+by)dy = 0$$

$$M = ax+by \quad N = hx+by$$

$$2M = 0+h \quad 2N = h$$

$$ay \quad 2x$$

$$\therefore 2M = 2N$$

$$2y \quad 2x$$

$$\int M dx + \int (\text{term of } N \dots$$

$$\int (ax+by) dx + \int by dy = c$$

$$ax^2 + hxy + by^2 = c$$

$$2 \quad 2$$

$$ax^2 + 2hxy + by^2 = c$$

Q:5

$$(1 + \ln xy) dx + (1 + \frac{x}{y}) dy = 0$$

$$M = 1 + \ln xy \quad N = 1 + \frac{x}{y}$$

$$\frac{2M}{2y} = 0 + \frac{1}{xy} \quad \frac{2N}{2x} = 0 + \frac{1}{y}$$

$$\int M dx + \int (\text{terms of } N \text{ free from } x) dy = c$$

$$\int (1 + \ln xy) dx + \int dy = c$$

$$\int dx + \int \ln xy dx + \int dy = c$$

$$x + (\ln xy) \cdot (x) + \int \frac{1}{y} \cdot y dx + y = c$$



$$x + x \ln xy - S dx y = C$$

$$\phi x + x \ln xy - x + y = C$$

$$x \ln xy + y = C$$

Q:6

$$\frac{y dx + x dy + x dx}{1 - x^2 y^2} = 0$$

$$\frac{y dx}{1 - x^2 y^2} + \frac{x dy}{1 - x^2 y^2} + x dx = 0$$

$$\left( \frac{x+y}{1-x^2 y^2} \right) dx + \frac{x dy}{1-x^2 y^2} = 0$$

$$M = \frac{x+y}{1-x^2 y^2}$$

$$\frac{2M}{1-x^2 y^2} = 0 + (1-x^2 y^2) \cdot 1 - y(-2x^2 y)$$

$$= \frac{1 - x^2 y^2 + 2x^2 y^2}{(1-x^2 y^2)^2}$$

$$= \frac{1 + x^2 y^2}{(1-x^2 y^2)}$$

$$N = \frac{x}{1-x^2 y^2}$$

$$\frac{2N}{2x} = \frac{(1-x^2 y^2) \cdot x(-2xy^2)}{(1-x^2 y^2)^2}$$

$$= \frac{-2xy^2}{(1-x^2 y^2)}$$

$$\therefore \frac{2M}{2y} - \frac{2N}{2x}$$

$\int M dx + \int (\text{terms of } N, \dots, x) dy$

$$\int (x+y) dx + N dy = C$$

$$\int x dx + \int \frac{y dx}{1-x^2 y^2} = C$$

$$x^2 + y^2 x^3 = C \text{ Ans.}$$

Q: 7:-

$$(6xy + 2y^2 - 5)dx + (3x^2 + 4xy - 6)dy = 0$$

$$M = 6xy + 2y^2 - 5, \quad N = 3x^2 + 4xy - 6$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$$\int M dx + \left( \text{term of } N \text{ from } x \right) dy = C$$

$$\int (6xy + 2y^2 - 5) dx + \int -6 dy = C$$

$$\frac{6x^2y}{2} + 2xy^2 - 5x - 6y = C$$

$$3x^2y + 2xy^2 - 5x - 6y = C$$

Q: 8:-

$$(y \sec^2 x + \sec x \tan x) dx + (\tan x + 2y) dy = 0$$

$$M = y \sec^2 x + \sec x \tan x,$$

$$N = \tan x + 2y$$

$$\frac{2M}{2y} = \frac{2N}{2x} \quad \sec^2 x \quad \frac{2-N}{2x} = \sec^2 x$$

$$\frac{2M}{2y} = \frac{2N}{2x}$$

$$\int \sec^2 x \tan x dx = \int \sec^2 x \tan x dx = c$$

$$\int y \sec^2 x \tan x dx + \int 2y dy = c$$

$$y \tan x + \sec^2 x + y^2 = c$$

# Exercise # 9.5

Q#1

Solve

$$(xy^2 + y) dx - x dy = 0 \quad \text{--- (i)}$$

$$M = xy^2 + y \quad N = -x$$

$$M_y = 2xy + 1 \quad N_x = -1$$

$M_y \neq N_x$  :- Non Exact

$$\frac{M_y - N_x}{N} = \frac{2xy + 1 - (-1)}{-x}$$

$$\frac{N_x - M_y}{M} = \frac{-1 - 2xy - 1}{xy^2 + y}$$

$$= -\frac{2(1 + xy)}{y(xy^2 + y)} = -\frac{2}{y}$$

$$= \int \frac{2}{y} dy - 2 \int \frac{dx}{y}$$

$$\int \frac{1}{y} (xy^2 + y) dx - \frac{x}{y} = dy = 0$$

$$(x + \frac{1}{y}) dx - \frac{x}{y} dy = 0 \quad \text{--- (ii)}$$

$$\text{Now } M = x + \frac{1}{y} \quad N = -\frac{x}{y}$$

$$M_y = -\frac{1}{y^2} \quad N_x = -\frac{1}{y}$$

$$M_y = N_x$$

$\int M dx + \int (\text{terms of } N)$

$$\int (x + \frac{1}{y}) dx + N dx = C$$

$$\frac{x^2}{2} + \frac{x}{y} = C$$

Q: 2

$$(x^2 + x - y) dx + x dy = 0 \rightarrow 0$$

$$M = x^2 + x - y \quad N = x$$

$$M_y = -1 \quad N_x = 1$$

$M_y \neq N_x$  Non Exact

$$\frac{M_y - N_x}{N} = \frac{-1 - 1}{x} = \frac{-2}{x}$$

$$\int \frac{-2}{x} dx = -2 \ln x + \ln x^{-2}$$

Multiply both sides of eq

$$\frac{1}{x^2} (x^2 + x - y) dx + \frac{1}{x} dy = 0$$

$$\left(1 + \frac{1}{x} - \frac{y}{x^2}\right) dx + \frac{1}{x} dy = 0$$

$$\text{Now } M = 1 + \frac{1}{x} - \frac{y}{x^2} \quad N = \frac{1}{x}$$

$$M_y = -\frac{1}{x^2} \quad N_x = -\frac{1}{x^2}$$

$$M_y = N_x$$

so  $\int M dx + \int \text{term of } N \text{ free of } x dy = C$

$$\int \left(1 + \frac{1}{x} - \frac{y}{x^2}\right) dx + \frac{1}{x} = C$$

$$x + \ln x + \frac{y}{x} = C$$

Q: 3

$$y dx + (2xy - e^{-2y}) dy = 0$$

$$M = y \quad N = 2xy - e^{-2y}$$

$$M_x = 1 \quad N_y = 2x$$

$M_y \neq N_x$  is Non exact diff eq

$$\frac{My - Nx}{N} = \frac{1 - 2y}{2xy - e^{2y}}$$

$$\frac{My - Nx}{M} = \frac{2y - 1}{y} = \frac{2 - 1}{y}$$

$$\text{I.F. } e^{\int \frac{2-1}{y} dy} = \frac{e^{2y} - \ln y}{y}$$

$$= 2y + \ln y = e^{2y} e^{\ln(1/y)}$$

$$= e^{2y} \frac{1}{y}$$

Multiply (1) by I.F. =  $e^{2y} \frac{1}{y}$

$$e^{2y} \frac{1}{y} \times dM + e^{2y} \frac{1}{y} (2xy - e^{2y})$$

$$e^{2y} dM = \left( e^{2y} \frac{1}{y} (2xy - e^{2y}) \right) dy = 0$$

$$M = e^{2y} \quad N = e^{2y} 2x - 1y$$

$$M = 2e^{2y} \quad N = e^{2y} 2x - 0$$

$\therefore \int M dx + \int \text{terms of } N \text{ from } dx$

$$\Rightarrow \int e^{2y} dx + \int -\frac{1}{y} dy = C$$

$$\Rightarrow 2xe^{2y} - \ln y = C$$

Q#4

$$dy + \frac{(y - \sin x)}{x} dx = 0 \rightarrow 0$$

$$M = y - \sin x \quad N = 1$$

$$My - Nx = 0 \quad Nx = 0$$

$My \neq Nx \therefore \text{D is not exact}$

$$\text{Now } \frac{My - Nx}{N} = \frac{1 - 0}{x} = \frac{1}{x}$$

Multiply in both sides.

$$x dy + \frac{x(y \sin x)}{x} dx = 0$$

$$M = y - \sin x \quad N = x$$

$$M_y = 1 \quad N_x = 1$$

$M_y = N_x \therefore$  @ is exact

$$\int (y - \sin x) dx = C$$

$$xy + \cos x = C$$

$\therefore M_y = N_x \therefore$  @ is exact

$$\int M dx + \int \text{terms of } \dots \text{ of } x) dy = C$$

$$\int (xy + \frac{2x}{y}) dx + \int 2y dy = C$$

$$xy + \frac{2x^2}{2} + \frac{2y^2}{2} = C$$

$$xy + \frac{2x^2}{y^2} + y^2 = C$$

Q.5

$$(x^2 + y^2 + 2x) dx + 2y dy = 0 \quad \text{--- } \textcircled{1}$$

$$M = x^2 + y^2 + 2x \quad N = 2y$$

$$M_y = 2y \quad N_x = 0$$

$M_y \neq N_x \therefore$  is Non exact

$$\frac{N_x - M_y}{M} = \frac{0 - 2y}{x^2 + y^2 + 2x}$$

$$\frac{M_y - N_x}{N} = \frac{2y - 0}{2y}$$

Multiply both side

$$e^x (x^2 + y^2 + 2x) dx + e^x (2y) dy = 0 \quad \text{--- } \textcircled{2}$$

$$M = e^x(x^2 + y^2 + 2x) \quad N = e^x 2y$$

$$M_y = e^x 2y \quad N_x = e^x 2y$$

$$M_y = N_x \quad \therefore \text{O.I.S}$$

$$\int e^x(x^2 + y^2 + 2x) dx + \text{Nil} = C$$

$$\int e^x x^2 dx + \int e^x y^2 dx + \int e^x 2x dx = C$$

$$x^2 e^x - \int 2x e^x dx + e^x y^2 + \int e^x 2x dx = C$$

$$(x^2 + y^2) e^x = C$$

Q:6

$$(4x + 3y^2) dx + 2xy dy = 0 \quad \text{--- (1)}$$

$$M = 4x + 3y^2 = N = 2xy$$

$$M_y = 0 + 6y \quad N_x = 2y$$

$$M_y \neq N_x$$

$$\frac{N_x - M_y}{M} = \frac{2y - 6y}{4x + 3y^2}$$

$$= \frac{-4y}{4x + 3y^2}$$

$$\frac{M_y - N_x}{N} = \frac{6y - 2y}{2xy} = \frac{4y}{2xy} = \frac{2}{x}$$

Multiply both sides

$$(4x^3 + 3y^2 x^2) dx + (2x^3 y) dy = 0 \quad \text{--- (2)}$$

$$M_y = 6y x^2 \quad N_x = 6x^2 y$$

$$M_y = N_x$$

$$\therefore \int (M dx + N dy) = C$$

$$\int (4x^3 + 3y^2 x^2) dx + \text{Nil} = C$$

$$\frac{4x^4}{4} + \frac{3y^2 x^3}{3} = C \quad x^4 + y^2 x^3 = C \quad A \leq$$



Q: 17

$$(x^2 + y^2) dx - 2xy dy = 0 \quad \text{--- } \textcircled{1}$$

$$M = x^2 + y^2 \quad N = -2xy$$

$$M_y = 2y \quad N_x = -2y$$

$$M_y \neq N_x$$

$$\frac{N_x - M_y}{M} = \frac{-2y - 2y}{x^2 + y^2}$$

$$\frac{N_x - M_y}{N} = \frac{-2y + 2y}{-2xy} = \frac{0}{-2xy} = 0$$

$$\frac{M_y - N_x}{N} = \frac{2y + 2y}{-2xy} = \frac{4y}{-2xy} = -\frac{2}{x}$$

$$\frac{M_y - N_x}{N} = -\frac{2}{x}$$

Multiply both sides

$$\frac{1}{x^2} (x^2 + y^2) dx - \frac{2xy}{x^2} dy = 0$$

$$\left( \frac{1 + \frac{y^2}{x^2}}{x^2} \right) dx - \frac{2y}{x} dy = 0$$

$$M = \frac{1 + \frac{y^2}{x^2}}{x^2} \quad N = -\frac{2y}{x}$$

$$M_y = \frac{2y}{x^2} \quad N_x = +\frac{2y}{x^2}$$

$$M_y = N_x$$

$$\therefore \int M dx + \int (\text{term in } y - x) dy = c$$

$$\int \left( \frac{1 + \frac{y^2}{x^2}}{x^2} \right) dx + N dy = c$$

$$\frac{x - \frac{y^2}{x}}{x} = c \quad (\text{Ans})$$

Q: 18

$$\frac{dy}{dx} = e^{x+y} - 1$$

$$dy - (e^{2x} + y - 1) dx$$

$$(e^{2x} + y - 1) dx - dy = 0 = 0$$

$$M = e^{2x} + y - 1 \quad N = -1$$

$$M_y = 1 \quad N_x = 0$$

$M_y \neq N_x \therefore \text{is non exact}$

$$\frac{N_x - M_y}{M} = \frac{0 - 1}{e^{2x} + y - 1}$$

$$= \frac{-1}{e^{2x} + y - 1}$$

$$= -1$$

$$M_y - N_x = 1 - 0 = 1 \neq 0$$

Multiply both side

$$(e^{-x} + y - 1) dx - e^{-x} dy = 0$$

$$M = e^{-x} + y - 1 \quad N = -e^{-x}$$

$$M_y = 1 \quad N_x = e^{-x}$$

$M_y = N_x$  is exact so

$$\int M dx + \int N dy = 0$$

$$\int (e^{-x} + y - 1) dx + \int -e^{-x} dy = 0$$

$$e^{-x} - e^{-x} y + e^{-x} = C$$